DIVISION : 378

i A B | EER |KICK OFF|?vFNO. ®EEH—F BrfE =15 =¥ =E
12 9848| H 11:00 | 376 —BE= VS JKRE—| —Bh | —BEHREEHLE]| FHIR —BE=
12 9848 H | 13:30 | 377 KE VS AR —Bm | —BIRSEE AR | KRE—| —BE=
12 983 £ | 11.00 | 378 KR VS —B%RR| BN | YURR—=YSUF | FE& KR
12 983A| + | 1330 | 379 | —B§— VS T B | o RR—YS R [ KR KR
13 88278 *+ | 11:00 | 380 BIIR VS —¥kR| BMm ANHLDEA FE JKIRE—
13 8827 £ | 1330 | 381 |/KiR&E— VS T &% BN AhHLDEA AR KIRE—
13 8H27HR| *+ | 11:.00 | 382 KE vs —B— | —Em TEREFHNE KR TER
13 8B278| + | 1330 | 383 1ER VS KR —Bmm TEREFHAE AE ER
14 9B17A] £ [ 1100 | 384 | —B8= vs AR —m™ —E=5 AR —@=
14 98178 + | 1330 | 385 RE VS —B¥kR| —Bm —E-5 —BE= —B=
14 9817H| + | 11:00 | 386 1ER VS T —@H | FEaIZIa=T<55| —B— T
14 98178| *+ | 13:30 | 387 KiR vs —H— —BEH | FBaIS2=T4L5| ER FE
15 9B198| A | 1100 | 388 | —B§= vsS —FE%kR| —BWH [RLUZEHNISUF| —B— —B—
15 9R198| B | 13:30 | 389 AR vs —@— | —BWm |REWUZEBEMIIUF| —BEZ —B—
15 9B198| B | 11.00 | 390 | KRE— VS KR —Bm | RILZBMIISUF]| TER RE
15 98198 A [ 1330 [ 391 KE VS 1ER —Bm | ERWLZLEMISUF] KR AR
16 98238 £ | 11:00 | 392 —B= VS T —Eh | —EREESLNE| —B— —E—
16 98238| £ | 1330 | 393 | —F8%¥fk VS —Ri— —fEm | —EHREEESLNE T —E—
16 98238 £ | 11.00 | 394 AR VS TER BT [FRIWZEMIT SR KRE— AER
16 98238 £ | 13:30 | 395 | /kKiRE— VS KE BN [FRIWZEMI SR HIR N
17 10818 £ | 11:.00 | 396 | —RE%kE VS TR G AnHLDEA AR KIRE—
17 10818| £+ | 1330 | 397 AR VS  JKRE—| BEMm ANHLDEA R KRE—
17 10818| £ | 1100 | 398 | —BA= vS —B— | —Ed | —BERAEHAE| FE —Bf—
17 10818] £ | 13:30 | 399 T VS JKiR —Em | —EREESLE | —BE= —B—
18 10A8H| X | 11:00 | 400 —f= VS JKiR —@H —E=5 —B— —@=
18 10888| L | 13:30 | 401 —B— VS TER —BEmh —B=5 KR —B=
18 10888| * | 11:00 | 402 FEx VS RE —Bm | RILZBMYI SR | KRE— RE
18 1088H| * | 1330 | 403 |—PBE%¥B VvS JKRE—| —BW |RLUZBEHNISUF| K=E AER




